

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

09/18/2025 09:00 AM | Drive to Vegas and start Installation 09/19/2025 09:00 AM | Load in Day 2 09/20/2025 09:00 AM | Event 09/21/2025 09:00 AM | Strike 09/22/2025 09:00 AM | Team to Drive back PO: Shipping Address: RED ROCK CASINO: 11011 W Charleston Blvd, Las Vegas, NV 89135 Invoice Date:
Due Date: Upon Receipt

Salesperson: Romina Manolio

CEREMONY: ROUND BALLROOM

RECEPTION: RED ROCK BALLROOM

Description		Qtty	Price		Total
Walkway					
	Fabric treatment to Cover Entrance on Ceremony 50'x 22'H with Valance - off white sheer with Backing Tassels Pipe and Base	1	\$1,800.00	T	\$1,800.0
			Total Walkv	vay	\$1,800.0
Ceremony at P	avillion Ballroom				
	Fabric Treatment to Cover Chuppah	1	\$3,000.00	Т	\$3,000.0
	Fabric Treatment to Cover the Pavillion Ballroom 300' x 22'H with Valance Off white Sheer with Backing Tassels Pipe and Base	1	\$11,400.00	T	\$11,400.00
	Total C	eremony a	at Pavillion Ballro	om	\$14,400.00
Cocktail Hour					
	Barback - Round Metal painted Behr off white	1	\$360.00	Т	\$360.00
	FABRIC TREATMENT TO COVER COCKTAIL AREA 500'X 22'H WITH VALANCE - Off white Sheer with Backing Tassels	1	\$18,600.00	Т	\$18,600.00
	Garden Bars - Jardin Du Champ Elysees - Hedge Round 12' With Behr Off white painted Top and Rose Lacer cut front 12'Diam x 43"H	1	\$4,200.00	Т	\$4,200.00
	Sofas - Santa Barbara - Linen With Off White Covers 8'W x 43.5"D x 28.5" Seat Height 20" Seat Depth 28" Custom Cover Upon Request	8	\$690.00	Т	\$5,520.00
	Club & Lounge Chairs - Santa Barbara - 01 With off White Covers 51"W x 40.5"D x 28"H Seat Height 19" Seat Depth 25"	8	\$345.00	Т	\$2,760.00
	Ottomans - Standard Pod In Off white 18"RND x 17"H - Cover Color Upon Request	24	\$42.00	Т	\$1,008.00

Description		Qtty	Price		Total
	Coffee Tables - Rome - Round - Off White	8	\$303.60	Т	\$2,428.80
	31 1/2"D x 16"H				
	Mix and match Pillows In Greens and Ivory	40	\$30.00	Т	\$1,200.00
	Accent Tables - Rome - Round 02 - Off White 15"D x 20"H	8	\$220.80	Т	\$1,766.40
	Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal Painted in Behr Off White 8'W x 18"L x 8'7"H - Frame Color Upon Request	2	\$300.00	Т	\$600.00
	Bars - Cabo San Lucas - Straight 8' Bar Painted in Behr Off white 8'W x 39"H	2	\$1,080.00	Т	\$2,160.00
			Total Cocktail Hour		\$40,603.20
Reception					
	Fabric treatment to Cover Reception area 750' Linear Feet 150'x 80' x 22H with Valance and Double Sided Pullbacks for entrances 160' to cover left and right of back of stage	1	\$27,000.00	Т	\$27,000.00
	Black out Fabric 22'H to cover entrance only	1	\$3,000.00	Т	\$3,000.00
	Bars - New York - Folding 8' Painted in Behr Off white with Rose Fronts 8'W x 30"L x 42"H - Color Change Upon Request	4	\$1,080.00	T	\$4,320.00
	Bars - New York - Folding 8' Plain Fronts Painted in Behr Off White to be on back of the room 8'W x 30"L x 42"H - Color Change Upon Request	2	\$1,080.00	T	\$2,160.00
	Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal Painted in Behr Off white 8'W x 18"L x 8'7"H - Frame Color Upon Request	6	\$300.00	Т	\$1,800.00
	Sofas - Chicago - White Boucle Lounge on Back off Room 98"W x 45"D x 30"H	4	\$690.00	T	\$2,760.00
	Ottomans - Standard Pod Summer Boucle 18"RND x 17"H - Cover Color Upon Request	12	\$42.00	T	\$504.00
	Club & Lounge Chairs - Chicago - White Boucle 36"W x 33"D x 27"H	8	\$317.40	T	\$2,539.20

Description		Qtty	Price		Total
	Club & Lounge Chairs - Aspen - Swivel White Boucle 26"W x 30"D x 30"H	8	\$276.00	Т	\$2,208.00
	Console Tables - Buenos Aires - Clear to Be used as service stations 6'W x 18"L x 36" H	6	\$165.60	Т	\$993.60
	Mix and Match Pillows in greens and off white	16	\$30.00	Т	\$480.00
	Coffee Tables - Nesting Tables - Multicolor painted in Behr off white 42"Diam x 18"H - 31.25" Diam x 16"H - Can be custom painted upon request	1	\$345.00	Т	\$345.00
			Total Reception		\$48,109.80
Additions					
Fi	Dining Chairs - Florence - White W/armrest & Wood Frame 27"W x 23"L x 40.5"H	2	\$26.22	Т	\$52.44
	Dj Fronts - Channeled White Linen 78âN M W 38"1/2âN N 1048âN N H	1	\$420.00	Т	\$420.00
	Stage Fronts - Santa Barbara - Wood Molding Painted in Off white to Cover 24' Front 8'W x 32"H - Removable inserts for speakers	3	\$300.00	Т	\$900.00
	Custom Made Side Stage fronts 2- 16' sides x 32"H to Cover the side of Stage with wood and Fabric on site	1	\$300.00	Т	\$300.00
	Custom Made Truss Covers 12"x12"x 62' In Off White Scuba	4	\$720.00	Т	\$2,880.00
	Custom Made Truss Covers 12"x12"x 52' In Off White Scuba	2	\$600.00	Т	\$1,200.00
	Custom Made truss Covers 12"x12"x 17' inOff White Scuba	2	\$180.00	Т	\$360.00
			Total Additi	ons	\$6,112.44
Packing List					
	1 roll meadow como velvet	1	\$0.00	T	\$0.00
	5 rolls sage chiffon	1	\$0.00	Т	\$0.00
	Ladder: Grey 21'h	3	\$0.00	Т	\$0.00
	Ladder: Grey 18'h	2	\$0.00	Т	\$0.00
	Ladder 12'	8	\$0.00	Т	\$0.00

Description		Qtty	Price	Total	
	Ladder 16' Fiber Double Step	4	\$0.00 T	\$0.00	
	16' H				
	Sand Bag	300	\$0.00 T	\$0.00	
	Sash Cord White	6	\$0.00 T	\$0.00	
	Zipties white	1	\$0.00 T	\$0.00	
	Wood 3x1- Bunch	1	\$0.00 T	\$0.00	
	Rolls Of Fabric	1	\$0.00 T	\$0.00	
	Scuba - Off white- Interlock Off white two tone Chiffon off whit Sheer Voile Off white				
	Exit Signs	15	\$0.00 T	\$0.00	
			Total Packing List	\$0.00	
Services					
	Team To Drive up and install same Day	14	\$650.00	\$9,100.00	
	Team To Continue installation Friday	14	\$650.00	\$9,100.00	
	Team To Continue Installation and Finishes	14	\$650.00	\$9,100.00	
	Strike Crew for Sunday	14	\$650.00	\$9,100.00	
	Drive back Monday	14	\$500.00	\$7,000.00	
	Perdiem for team	14	\$430.00	\$6,020.00	
	Hotel To Be provided by client	8	\$0.00	\$0.00	
	Transportation	4	\$800.00	\$3,200.00	
	Flame Proofing	1	\$4,500.00	\$4,500.00	
	Manager on Site - Flight and Transportation	1	\$6,500.00	\$6,500.00	
Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Tatali	Total Products:	\$111,025.44 \$63,620.00	
			Total Labor/Services/Misc: Wear & Tear (3.00%):		
		,	Packing (2.00%):	\$3,330.76 \$2,220.51	
lotes			Taxes (tax excempt):	\$0.00	
			Discounts:	(\$0.00)	
			Total:	\$180,196.71	
			Payments:	(\$150,000.00)	
			Balance:	\$30,196.71	